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CODE : TNTET (RE)-2

Total questions : 150 Time period : 180 minutes Maximum Marks : 150
No, of Question Nos. Page Nos,
Rt Contegg Questions | From To From To
1] Child Development and Pedagogy 30 3 30 3 12
(1 Language I (Only One Language) a0 31 60

As selected by the eandidaic as  medivm of
instruclion i the Appheation Form  from  the
Languages given below

Tamil 30 31 80 13 16

Telugu 30 31 &80 17 20

Malayalam 30 31 60 21 26

Kannada 30 31 80 27 a0

Urdu 30 31 60 31 34

mnn Language II - English 30 81 20 as 40
[FV) [Section A] Mathematics & Science B0 a1 150 41 60

IMath, Physles, Chemistry.

Botany. Zaology)

tFor Mathematics and

Sclence Teacher]

OR 60 91 150 61 BO
{Section B} Soclal Science

{Far Social Science Teacher |

Note: In Part IV, it Is compulsory to attempl the questions of Part 1V (Section A] or Fart [V iSection Bl as
selected anbject in Application Form.

| Read the instructions in Tamil & English a1 Page No. 84, last page of this booklet. |
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PART - I
@Ppheng Gubur® wHnb epUlEsé
CHILD DEVELOPMENT AND PEDAGOGY

e dhfies 30 allermasatl 2 aieren. SmenEg allanTdsensel alan uefldan Geouedn fil.

[ D

There are 30 gquestions in all in this Parl. All questions are compulsory,

giekassmen wmhgalliuspers s diflut aiBarg Qewudurcge agallan

EeiiLEet auLpdimeus!

A) (e lana Uy el L b B) @ueomb lee cugpeyl b
C)  pwemrl bleve suauqy L b D) Eeubpel esoubléiena,

It order Lo motivate children. a leacher offers some sweels for the completion ol

vach problem. This is a

Al Pnmary reinforcer B}  Seccondary reinforcer

C)  Tertiary reinforcer 0] none of these,

Glayfld safliflén @reet Gwhas aaalss Camaumy aflfCrriadlng 7
A) ST euenad iy B)  syemusd) erdlmuni b

) Eml 4y D ur@eTing & eamioy.

A child who is mare delighted with success, is possessing Lthe need lor

A} alfection E) .apprm’a_l

) achievement D} security.

2 AP semm shdlasdla ellmeturt @ cpenmenw 2 haradLBdaas)

Al upew erEEalsgd Bl smau wedmalds
C) s@on wrsgailsahn D) @rupnst ageybicans,

A teacher who encourages the playway method in his teaching explores

iy Exirinsic motivation H) Intrinsic molivation
) Achievemen!| motivation m none of these.
[ 5061-RE | | Turn over




Whal type of tests are mosi suitable for the teacher in planning his leaching
siralegies ?

Al Sociometric lests B}  Personalily tests

C) Crealivily lests D Intelligence tests,

s denimufles Blad@urmsaiurf L aosaw Geuallsbam LHb e e

A) memns Gubufssiu Guellane wemb

B)  pang flealufestul L sangietia b

C)  anipblense werg Cuelless wemang o dlamn Glodigd

D} grpdlenes wamib, seisgemiie) oarh whmn Goedllane Inab srevsumipd GpE G
Liswgipl et @) Hama.

An individual showing well adjusted porsonality 48 charactensed by

Al well developed superego

B) well balanced ego

C) domination of id over superego

D) id, ego and superego are equally powerful.

suyeiota urkdugdley spllss o filun calEpiuprar  gmeo BOLT Rener’
vweTUfSafoTT. g GEdeusuriyma Bandd Wam@n SlrLeugme wresmsut el
L Adlemen 2y dlprires. G

A) (pLETT Heulbld mMDe Bl o hs dlenaldlnges
) ymenamlélé shpd D)  emadert oy & flaenlindsl

A teacher tries Lo teach a complex idea wilh the help of some pleasant stimulus
and after repeated use of the situations, the students liked the subject. The
theory underlying this method is

A) Trial and Error learmng B)  Classical conditioning

) Perceptual learning D) Operant conditioning.

[2001-RE |
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“
Stimulus-Reponse bond is established in
A Classical uur:diuﬁmng 3] Gestalt learning

) ) Trial and Errver tearning D)  Operant conditioning.

» 8 SRt fems Claupifumt Gpbaslane Cumivennur s Sibies (puing
A Geunufis e dpenn Bl  s@edisrt oibe dlennilnds qpes
C) Bip&sd-sU QUUTLE (weop D)  demfin shne (panm,

A child who shows an aversion towards homework is to be corrected pasitively

Which technique would you suggest 7
M) Discrimination method B) Instmm'emal conditioning
<) Deconditioning method D)  Relearning method.
9. daGurigen sl mely weghfldleé alfmarayd srpafles aean 2
Al Aidihad. ,31¢1cqam*r @l uwes wHnib srremiedlad ( snyens alarasd )
CB) Qimmet, Sewdur s whoib elemeney
C)  Gleuditiemeae, LleudurRsat bhmpb S papse
D) QEusurBsst, Sleudhleamasst whnk SEudallameney.
Whal are the determinants of Guilford’s model of intellect ?
A) Thinking, cognition and reasoning
13) Content, operation and product
) Operatlon. process and syslems

) Process, operation and product,

o

| ZDG_!:?EE— | Turn over
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A) Spatial intelligence 1) Logical Mathematical n'ti{:ill;,{gm:t‘.
) Bodily Kinesthetic intelligence D) II‘lT.C!]‘Pt‘-]'SUIlaI intelligence.
11, wean&eunpFsl mngmietiay e
A e Gleuipd & Gieuetlui[®
Bl warbleupadiller Curgperticnes
Cl  whpeutsetian wenGeucedslemy yilhg @ srerond
D)  wenbleuipd dleow HetaLamrab o dreaflragl amaussc:.
Emotional catharsis means
A) [Fee release of cmotional encrgy
B spantaneous expression of emotions
C)  sharing of other's c;,nmtiuns
D} storing the emotions for a long time.
12, erfléssdn sputseflen Garlur® @eueflLLfsaio ma
Al rendugliumie Garlur@ Bl  waflsailuda Garlump
€l wyfleysusarédlert Gamiur{ D)  oeng-eapm Genlin
Erickson’'s theory explains the concept of
A} Psychoanalytic theory
B) Humanistic theory
C} Cognitive development theory
D)  Psycho-social development theory.
B2 70 |
—— ————————— T

TNTET (RE)-2 B

A child who performs better in sports and games s dominant with
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Cognitive development theory emphasizes the characteristics ol child's

A Maturation £ Identity

£) Morality m Sociability.

Wi esm et aefiet apipemnurer | Reapeura | aawdasl Glun

Oledreuimauiesreunned §ibapemn Qummphald 7
1. gira@mREluTmeilen ol rddl LHpEk 2 (HaloErana Sidlsils s
I SenGlaws whnih yaew Glewsiumig e sueiiymidgise.

Al gabim (1} bl Hi adloreosy

B)  aibmyset (1) whps (M) sfluren g dus

C)  ambuyser (1) whrus (1) & ures aoeu

D) agaihiyl (1) =flureng).

For capturing maximum attention of students, which of the following s correct 7
1. Intensily and size of the slimulus must be increased.
II.  Repetition and novelty should be emphasized.

A) Only statement (1) is correct

B) Stalements (I} and (II) are not correct

) Both the statements (1) and (Il) are correct

D)  Statement (1) is correct.

ledTenih e eUDTUET 618 HEURTT susnGH e SN &5 7

A) Lifptheds seuearlh

Bl @gubesswrer seuerl ( Clewusilsnd scualsad |

Cl  Glewhemsiurea seusmn ( Qlewdenrd seualldmds )

D) uk@Gaby seta.

Which ol the following is not a type of attention ?

Al Habilual attention B) Involuntary attention
C) Volitional attention D}  Participatory attention.
| 2001-RE | | Furn over
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Which of the [ollowing is nol a projeclive test ?

A) Minnesota Multiphasic Personality inventory
13 Rorschach Ink blot test

C) Sentence completion test

3] Thernatic Apperception test.

17, wrammaurseila ghemshemy senhedin o FMuf Désumameia S Subopenpaiu

EREmTETet iy 2

: Al areyGames B w1 $Cam
L e e ifley e D] eflamriiig e gpenn.

Tu assess the absenteeism of sludents regularly, a teacher can use
A rating scales 3) curmmtlative record
C) check list D} questionnaire.

18, semflsidle ueelarore wremeut Sorbll utesdla fnda eflertgeug cally

ML FemEamw 8mikD ¥

A gefliCurgd ( getnse ) Bl aR@slsd
Cl  sogemmh shdlgsd D) uhCabhnss (updbsiisd )

A child who is weak in mathematics, tries lo excel in language is using the

mechanism al

Y ldentilicalion I3) Compensation
) Rationalisation Dl Projection
) [2001 RE |
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When a studentd approaches you with a pesonal problem. what initial strategy

will vou provide ?

A) Analyse the causes of the problem

B) Ask to consult a counsellor

) Wil so thal the problem can be solved hy himsell
I Mrovide guldance.

200 Sebieuigplz GlLwf et aanl Sesu@EUelt o siflasenil ustsenc pasetls gt

A) #lsoeom Grmdd B)  alsenmh wrduGer
C) el Bomiuh i #) D} anme Cmateu.

Who put forward the chent eentred counselling ?
M) Sigmund Freud B) Abraham Maslow
) Willlamson D] Carl Rogers.

21, adall syeveiel Gubu@Esn Qeudurl e Setaumeueeunmiet hs (penmule

#in cummsLLSSemD 7
Al BFIEMT SE (pemp Bl seflurel L@iumie) (pesm
) Qamgenem (Lpemi D) e fmEareasd (wenp.

Which of the following methods will you usce to study Lhe effectiveness of activity

method in improving academic performance 7

Al Introspection method 13 Case study method
) Experimental method D) Observation melhod.
| D | | 2001-rE | Turn over
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Educational psychology explains the scientific study of the behaviour of
A) all individuals Bl  teacher and learncrs
C) both human and animals D) learners only

23, getluret neflE 2 megpennsat LBl 2 eraliws ey

Al Sdleysmt o enaflud Bl  @ampléart 2 eraliud
Cl  wmégeu rerallud DI #Fapm 2 eneflud,

The branch of psychology that deals with inlerrelationships among individuals is

lkrown as

Al Cognitive psychology B) Industrial psvchology
) Clinical psychology D] Social psychology.
} 24, Bangssblad penpllea sugplueL susttséléd Gamlum)

A) 26l glHpey i

B) Gumpss ald

L Cl  sgmeh alid)]

I D)  Gurgedraramenieiimig Slpuuraranay slgl.
What is the basic principle of development applied in the inductive approach 7
A) Principle of interrelation &1 Principle of proximo-distal
C) Principle of spirality D} Principle of general (o specilic,

25, alesrt eusnimédil vy Fereimeatics @lhill G swenumBeamet yiflhe Geraienss §lame
Al yeallugs dlae
B) @eusiblene { yeoafimen Glawd flene )
Cl aphelswd Blane
D) apoedews Hlene.

Which stage of cognitive development is suilable to leach the symholic
representation of equations in science ?

Al Sensori-molor stage B Concrete-operational stage
C) Pre-operational stage D)  Formal-operational stage.
| D | | 2001-RE |

.
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When you are confronted with a visual learner, which learning method would
you sugges!

Al Eecitation method Bl Concept mapping
¢} Association technique D) Gaminy lechnique.
@i @phensse apneg Subloreer uhfly GopurBemear ubn! EudlsGien o emhsd
SIELCUEn R Enl FTITHEHSE 7
L. GlubCpri ypbecTEssa
I, llssgaents GO LT
I, saflewiu’ L GunGmri

IV, GQupBprilar sglsy urgmsriy.

@lepoist |
A Emanheain T aTeney B) (), (1) ehmud (IV) eflureneney
L] (3, (1) wihmyb (1) siflurssensu 0 emeugn sfiuraTanailgie.

In one of the infarmal discussions in the classroom, two children are identified
who are complaining about their parental conflicts. The problem associated with
the children 1s

I Parental rejection
I1. Poor [amily support
IMl. Isoclated parents
IV, Parental overprotection.
Among these stalements
Al All are correct B) (I). (1IT) and {TV) are correct

C) (I}, (I} and (I} are correct B None of them is correct,

“2001-RE | [ Turn over
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29

30

G mHaet sydlapperen sugrusmmee =, Sl
Al gQr wanpuren shllégemen GuhGier aien Seues D
B} epbogse smutseila alpiuiug she swndlasi L Geusithio

C) srgimanh guhopselar Csavaumens whdluiuGgdl, sunafhon Beero b

AR
D) sediuret sddlbne gpemeeaner LUSTUEE SIS
In a diversified classroom, the teacher should
A use a single mode of leaching
i3} permitl the students to learn aceording to their willingness
C) highlight the needs of normal children and teach at the average level
D} use Individualised learning stralegies.
SHpH e b @gaar Qasflfar Gdlne
A} sbmd DewdgurGada alasssoead siflédsmnm
B)  egpe qpeondamer @fiddliog
C)  enCurfler suenflemeenus @hledlnes
Dl @Ol usebnd s rafiaw gilsdng.
Learning curve depicts
A} Curve showing the deviations of learning process
B Dragram representing the mode of learning of a group
C) Graph representing the learner's progression with time

D) Symbolic map of factors of learning,

| 2001-RE |
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2 (gameLr — el
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Bpdhur asrgud Esp -
A} dleial] @ B) ey @ap
C) dlasst @mopsom D) fbsat Bz
‘Gar LR @imenen’ sretipenpéaliLfeols)
A)  Hlasselg Bl el
Cl s g D @raGsSILg.
sefbflurenen Blanyullayrien Lin &b s edoiem]feme
Al 100 By 116 C) 120 1]
gif el smELLIL (LpEmIGeo LIt Gén Dladie -
Al Edlicnl L= 2.8
(LpEuemal — 4, 14
LG 1L = 6. 16
(o s 0 — 10, 20
B) @bled = 10. 20
(L G B — &. 16
= — 4, 14
C)  @hled — 2.8
L T = b, 16
Loy 1D — 10. 20
(I dIE &) — 4. 14
D) mhlEs — 2.8
(peuEm e - 10, 20
U5 Sy — 4, 14
OImL & — G, 16.

1843,
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37. & 0. 2010-80 SliEeuel@haufmeiin® ..o STETY Safiloeum,
Al 2011 B 2021
) 2041 ) 2033.
38. Grrefey Grurame erann Hrenes Gleuetldll e o
A i gy B) il 6 sosyl
Cl & oed, Gimads D) mrardl
39. oy @ gblpe
A) = B &=
Ci & L3 g
40. @oreesi Hlaanf Gmern o ffiui
Al aurani B)  insmmleuLmii
C)  elmompetieur D) 2. Gau s,
41, ‘damemny dlgeniss sen e pheiufilamel
A) updiser B)  allefugas
C)  Lmemeumst ) D) gonéleer.
42, ‘Gamelldsy’ senmenphaliufous
A) dlimaurs ok U-]I Gaeunyl
Cl  dipoaon D) Algsinimensu.
43. gotisl Had adiab Gerd
Al zedl ayss B  sulLnim qupse
Cl  hsey sulpdih D] @eges gl
44, sflure alwlous Gaey Glales |
A epdlyrdlEan — (G GIHGL
& SHENTLIT & 61D — e & enL
g seliGrrs — G e
Bl shdigrdlasn — DEIOT | &g L
8 &L SemiD — (LG i e
HlésaniGrr s = Gl e
Cl  ehdgrdlssn — GlurhEenL
& e LIT g sotln — LTl S
hlppedlEHT s — GBS G
D shdlirdlssn = (U 5 e
& G LT & 6T = GlumhEeni_
AT Nt - LOET0T) e
5 EE




3.

&7,

48.

49,

15 TNTET (RE)-2

fipsmgenml Gorenso udlerm sughd CAET
A 2,34 B) 134
) o4 o 2, 4,
afluren efensows Wafey Qels :
A B EMI] ST &S0 LD — 18 L eull
Hal e il sto 1D — 30 L eaD
i euin soeumibé &1 edar_ (o — 16 u_eub.
B) Lol ERIT GTRST|_AT — 16 1 gul
fol_Gw & emarL_ — 30 Uit
Bl ST B EUIT I BT ErioTL_ i . 18 L sk,
) \DEIERT ST e — 30 wleeld
Gnl_Go ST D — 16 L e
) (T LT BUELIT i o T (B - 18 UL suiD.
D) eem @ sasii b — 29 1. il
el G0 ST el D T 16 L coles
A eumewn il G 6oL D — 18 UL selD.
\Elisens Lol peieaue! - @dld Ll sugi By
Al e Hlenuies) B) @@Curge 2 ausmuwue]
) L‘l'lp')'l@@mrrﬁg.@dmﬂ D) GeuhpenbuemT.
pirewd Garbnss mEan cueorin e
et sl sllGe o pekbiag el S EED ... D GBI WE SiEm
A} naimesiw B)  Gumhldlud
C)  mesflwedlue D) eyl
‘o quad sbl[pli Lo G ZUssD Gmmedmé: T[T ano e eur
A) LT &LIT (1. &u B) =y &, @rreme b ee
C) sl @Gl D) smene G)enhHElenTLeT,
2 (pLiREhodl eveiTLien
A) &, & 13) L, Gt
C) Ii1, &l D) 0.
|Ei"ﬁ_] -RE [ Turn over
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i

6l

sthumer aflem anwug Gy Clens, -

i3 Siich — Gafl
{1 Ey — (3L il
LIy B = Sy
LT SG -— S, &
€l @il d —— Bzt
el — iR |
EFRH — Bedfl
R — ey
D) ahles s - T
ELpEET G — ﬁ@g‘q
Wi — :?:.:_:('_I_I:,I'r
LIl gy — Gafl.
'Clreiss Lisdien Lgss Ll Gt
Al amnudletay Leref B)  sulrldleareu weref
Cl Qutdismey weief D) shuGasfl g Lisraf)
BESGEL, Shged, Caremd, @hsb - Esmeu Glie elleiened o 2
) T G T 8] mleow
C) wr@ D] iowes,
LR s edremiln Gemd MWl Seres [ L A -@;u@m FusrsuELT
Al il Bl umusnas Sy
8 s ETENES L d) ) urrdlar o,
suphGae ginsGeur erab gy ks,
A Tl 3 U L]
Cl i 2] ]IRCA
Chebsmeimn_ram |8 588 srane Bleumi e Gigmt fojani_wy
Al mrwgirai Bl eadlu aprad
£ feo 3] Ehhahem |
LR sr@rebl sdle me_Qupy smuBuntie Sléseneunly wsrafludhenn
SRS ITGI T f]
Al Cmraareuunts B} sursedsunene
C) o gomGhoehal D] arges i
Blegin Fiflelr winpese s, e e PBMESUD oo, ST,
Y| 618 ik, 5] S e
(] Cuont e D s,
2 ot bl een e HLLEG U
il ;&jﬁéﬂn_m 3} Fhdinen
) @Qﬂlumir D) BITI &7
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There are 30 questions in this Part, All the questions are compulsory.

61, How the sentences can be combined correctly without changing the meaning ¢
Raman has to complete his homework: He can'l go oul,

The correcl combination of sentences is

H) Il Raman has to complete his homework. he can't go out.
B Raman has completed his homework until alter he can't go out.
) Until after Raman has completed his homework, he can'l go oul

] LIntil Raman has completed his homework after, he can’t go out.

62, Idenlily the correct word to flll in the given blank ;

1 rieh, | would help the poor.
A AT Bl WETE
) s 13 Wi,

63, [dentily the reported lormr of the given sentence .
My [riend said. *You must accept this gift."
Y Myr friend asked that 1 must aceept thal gift.
(5] My [riend said thal you must accept thal gift
) My [riend requested that | must accept this gift.
D} My friend insisted that | must accept that gifi.
64. A personal letter could contain
A) Lhree I?aragraphs only 13) two paragraphs only
<) any number of paragraphs [} one paragraph only,

| D | [ 2001 -RE | | Turn over
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{ Q. Nos. 66 to 69 )

b,

67,

68.

bY.

Read the passage with blanks numbered. For cach numbered blank four options

are given after the passage. Ideniify the correct word Lo fill in each blank -

The young and the upwardly mobile generation of tedav has [ P“‘J

(67)

aspirations . little patience, If the youngsters wanl a smariphone ar an

ipad, lhey usually don't think much before spending L 68 . such gadgets

-------------

Sometimes such spending involves taking a personal loan or vsing the credit

card and repaying ': 69] debl over the next few months or even a year
N lovwr. B one
C) high D}  no,
A and B) but
) or &) of.

A) of B) in
) at - 8] on.
A} the Bl an
C) a ™ SOIME,

| 2001-KE |
_ _________________




71,

T2,

73.

T4

37

ldentify the correct phonemic transeripltion for ‘germinate’,
A) / 'dzemintet / B) / 'dze;minell /
C) / 'germinelt / D)/ Yjernilnelt /.
The words ‘need’, 'dare’ and "used (o' are

Al auxdliaries I3 models

C) marginal modals D)  modal auxiliaries.

Whal does the following sentence mean ?

Gandhiji loved o be np with the lark,

A Gandhijl woke up early in the morning

7 Gandhiji was punctual

C) Gandhijl went (o bed early at night

Dl Gandhijl did not wake up early in the morning.

Choose the right question tag :

We put some mopey in the bank last week, e 2
A aren't we L3 don't we
k) didn't we ] o we

The aim of teaching poelry is

N to help pupils to wrile poems

B) o help pupils to enjoy reading the pocms
C) Lo help pupils only to learn poems by heart

1) to write the poems in their notebooks.

| 2001-RE |
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77,

78,

79.

80.

Which is not a quality of "good handwriting’ ?

Al Legibility

B) Distincliveness

Cl  Spacing

D) Absence of uniformity in the size of the letters.

Reading a passage from the Supplementary Reader for enjoyment and expansion

of Information is called

A Silent Reading B}  Inlensive Reading
C) Extensive Reading D) Self Reading.
[dentily the correct characleristic :

[[ a test measures what it Intends to measure, then 1t is one of the

characleristics of a good test,

A) Practicability B) Rellability
C) Scorability D} Validity.
Remedial teaching involves

A teaching and testing

Bl testing continuously

C}  teaching, testing and reteaching

D} teaching difficult topics.




83.

B4,

Chaoose the correct sentence paltern of Lthe given sentence

Reading made him a complete man,

A) S+V+0+C B 5+ V4 I0+ DO

&) S+ V+A 1671 54+ 4+ O

Identify the simple sentence lor the given compound sentence

I broke my ankle In a lootball match and had to go o hospital,

Al I had to go o hospital, because [ broke my ankle in a foothall match.
B) I broke my ankle in a loothall maich. so [ bad to go Lo hospital.

C I had to go o hospital, so | broke my ankle in a football match.

1] Having broken my ankle in a football match, [ had to go to hospital.
tdentify Lhe correc! anagram’ -

Al meel — meal Bl  know —no

) melor — lemon 13 pun — fun.

Idenlily the correct alphabetical order of the words in the box ¢

| recession, receipt, recipient; recilal, recapturc |

A receipt, recilal. recession, recapture, recipient
13) recipient, recesslon, recilal, recapture, receipl
C) recilal, recapture, recession, recipient. receipt
[3) recapiure, receipt, recession, recipient. recital.

!TJ{J'LH-RE | | Turn over
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87. [Identily Lhe adjective form of the word ‘honour’ :
A honourable B honest
) honesty | B honorarfum,

88. Asrange the following jumbled words in the right order to formn a meaninghul
sentence :
that / remember / always / become / can / you / thinking / by / big / big
Al Remember always that by thinking you big can become big
B) By thinking big vou become big thal can remember always
C)  Always remember that you can become big hy thinking blg
N Alwayvs become hig by thinking big that you can remember.

89, Ildentify the correct comparative form of the given sentence :
Chennal is one of the largest cities in India.
Al Chennai is large than most other cilies in India.
) Chennal is larger than most other cities in India.
C) Chennal is not larger than most other cities in India
D)  Chennai is as large as most other cities in India.

90. Identify the correct compound word that contains "Verb + Noun’ :
A) popcorn Bl  overthrow
C) safeguard D) lifelong.

|E_| | 2001-RE
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PART - IV
Sifley — A
SECTION - A

HeooT&H G LHNId SiHlaiwd
MATHEMATICS & SCIENCE

Blougfidlas B0 aflairésa o_steran. JareotHgl T AHEHHGD aflemi_wefse GeoustsHio .

“There are 60 questions in all in this Part. All questions are compulsory.

semeus e, premdléer uedlld. @oparm ocunosfosde 2 s

Ciadomaebletmihe arsaatiu@n Coud) arseuflan Gluwi

Al @ mele Bl wesGaneu
C) (G R BT 851 0 Slemen$Garae,

The chemical messenger secreted by less number of eells in endocrine part of

pancreas is

A) Insulin B) Glucose

C)  Glucagon D) Glycogen.

GenGeun nopema [ Mule ) Spssamsubpst aabhe aRbfibesr Lngb 7
Al ahdlss senwren seflanoliu(isise

B) @Gensbled sellonlufbase

C) @ P seflennluBdaine

D) meeplaol amarkssdibg G sefianiufisssc.

‘Mule' is an example of

Al mechanical isolation B} gametic isolation
C) ecological isolation D}  post-zygotic isolation.
| 2001 -_F:T;] | Turn over
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The BMI of a person with a height of 6 leel is 21.6. His body weight in kilograms

s
Al 70 B) 80
C} B0 0] 144,

94. Dr. g omé Cunes &aruisHlfa shetonfiuilg Ui Gl Genm(® Qe L iusm wsy
A) 2l Qlumésinen e B) o fitw wpdrrsan
C) ol gpeldl D) e diw s GUUEE,
The invention of Dr. Ananda Mohan Chakraborty is assoeiated with
A) Bio-magnification 13) Bio-remediation
C) Bio-sonar D) Blo-rontrol,

95.  Wlurdlen Qed sl snnl LnPey il eneulllee, speil@laun gp Gl Gigdebieblm

8 (heuTEE b Lladumenled o cdmendtisen s
A 2 B) 4
&y 3 Dy G,

During mitetie phase ol meiosis. the number of cells formed from cach daughter

cell is
Al 2 Bj 4
C) g i3 £i.

96 sfluren wemey shidlelleas @RuiGe -
A) Les — L &dlemel > meuanen ¢ Liminl
Bl yésleat — seuanar — Lniby — Umka)
C) g — umby — erell
8] STeUTRIEST — eTen —» S hens, .

I ?_E}ﬁi;r{]*; |
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97, sransdar abs ugdlidr pan Basflpbs wepdd Gantyrrdla gaaipap
maveupanmUTS Hlen HludsiuBaiog 1

Al it st uu:lil&isﬁ, Beurmset

B)  Geaiae, Goessr, Sa@uf

C)  meimp, Lyphisa, Geurt sl

) (DLl selt, Hamm(il, Wend &ar,

The parts of plant best suited for maintaining heterosis through generations are

Al flowers, fruits, roots E) roots, leaves, stems

C)]  stems, fruits, roots D) roots. stems. flowers.
98, BOD el Hlepayd Qgrim sboa

A Hlepdla e srer edaiigas Sy

B)  oydsradilar S ha ool ( SAEn bl L@l )

C) i Hlenaumelan gaopsedm 2flaflszc

D) i Blenesela sy éellmea gampge | eutrophication ).

BOD is not the resull of

A) death of terrestrial animals

B]  algal bloom

]  increase in organic matter in water bodies

D)  eutrophication.

| H [_‘2_001—RE ] [ Turn over
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103,

101,

Chemical alarm signals released by an injured Lissue are
Al Thymulins Bl  Ampicillins

C) Prostaglandins D) Norepinephrines.,

smeu) heesong e petllumaleow Bamb@uT s aberanh Heergs cuanmdimen.

<SUENRI 60T HITTe001 0

Al  Baufler malldugdl whpn uss@eauflar geelldidn aerer gy el men

W& S0 e)
B) el Qe 2oeftar oy deliaias FéalUBmgTd
C) peongdn metlllds £ eier el B ranasdlan FoHiBaum 6
D) L&s Corl Gt a;aﬁaﬂ 2 sablenast SEelUDwsTd.
Plants grow like bushes; when gardeners eut the shool tips. This is due Lo
A) removal of gibberellins present both in apical and lateral rool tips
B) removil ol auxins present in apical buds
Q)  removal of evtokinins present in apical shools

D) removal of auxins present in lateral buds.

an #Curdgrd soriurellé sorsgee sorurmsfler Surdmafla

& erTTE | Admen
Al Gurearflliy B)  mirtwrelily
C)  Buwrd Sleresi D)  Suwremell i

The number of moles of solute per kg of sclvenl is called

Al Molarity B]  Normality
C) Mole fraction D} Molality.
[Z001-RE
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Which among the following has the lowest first lonisation energy ?
A) Mg B O
) E D Na.
103: afhorerdssien o diflursase surfiées vweaufo » Care Faane g 7
A} BmeuLrT B)  Jdlégenen
Cl pyymayeblss D) Gleusis &eulb,
An alloy used in manufacturing Aircralt parts is
A) Solder B) DBrass
) Duralumin ™ Bronze.

104, GGueirsfllen afdliug Neouprusmeaubiiee ag Sfle pemsmeypbgil @lpeasm

Qlubpis e 2

) bl Cpi el oo Sdlu sdit oued
Bl du Cpi el whgnd Quily adld suef
C) Guilu Crr whnis Guflu erdlt syued

D) Guflu Sef ehpd Fdlu erdit swef.

According to Fajan's rule polarisation 1s high with

A) small cation and small anion B) small cation and large anion
C] large cation and large anion D) large cation and small anion.
@_ FF&E] | Turm over
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LOE.

107.

46

The IUPAC name of CH 4 ~ CH, = CH, - C (Cll 4], - OH is

Al 1.1 dimethyl-1-butanaol
] 2-tmiet hyl 2-pentanol

PNl BYeTTI(R TEILG THE i
A) (L B& 5D

C) Gaush g

A light year is the.unil c;t'

A) acceleration

CJ speed

wrors dosCusddlen, s Rl 2ANE

I3

D]

13}

D}

B)

D)

GlewsMGupriding eralic, Sgamalufn alas

A) xo
el
ST

B3]

D]

cimethyl butyl alcohol

2-hydroxy-2-melyl pentane,

Siamemaigy

FT el

distance
time,

Grmrgdle. x &6,

BITEsSHen g

x duv
dit

sl

The heart is pumping blood at x kg per unil time with constant velocity. The

force needed is

A) X
el
) at

B)

x dv
clt

LE1a,

T e—
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Which of the following bodles have the largest kinetic encrgy ?

A Mass 4 mand speed © " B) Mass 3 m and speed Zdo
) Mass 2 mand specd 3v D} Mass mand speed 4o,

g eusdlemei sprm Lsitetullen Si9smh Oidraimeuecuhnel waenans smiddqrsy 7
Al i wienldlellinhe dirousdlean Sl

Bl dlijsugdler et

C) epyiysreiluien uedllitiy ap@iésin

] gieuenTied QU eLD .

Pressure at a point inside the Uquid dues not depend upon
Al the depth ol the point below the surface of the liguid
B} the nature of the liguid

C}  the aceeleration due Lo gravity at that point

D)  the shape of Lhe container.

Qlur e sauiang CattGlam

Al Gleuefaf 4] LIk )

Cl  2.0ué saysd D) wells 2 6.
Find the odd one oul :

Al Silver B} Cotlon

) Sallt waler D} Human body,

| 200]-RrE | [ Turn aver




TNTET (RE)-2

112.

- BIreim @ aamsala Guessiuad 45 iy

S

48

2 _ )
The value of L87:942 1~ (32458}

- 75.458-40.374 s

A) 1 B)

C) 100

3 3
TS = 20 srethldy xeetr gl

D)

{l
{1*512”?13

Al 6 "
C} 91 5
! | : -j+ :TE‘_}?E!}_ = 20, then xis

Al B )
C) 91 -

106. Sybe o amasen

A) 3 lohmih 5 B)

@) 5uwhpo 19 D)

10)

1000,

20

Jd1,

20
3.

Spmausellet e bomseilin e (g

i) Ll”fni:l u'l.l".‘l O

45w 1.

The product of twe numbers is 45 and the sum of their squares s 106, The

numbers are

Al 3and5s B)
C)] Sand 19 D)
[ 2001-RE |

S and 9
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114, x=5+ 246, el J—c;l 5 wHlly

f- .
A) N2 B) 242
Lo D) 2vV3.
x=1
Il x=5+2v6, then * s
A 2 B) 242
C) 3 D) 243
116, Aediueau 30% vglubluadrmer Guim 15 wdliGusmes waspallerd
- Garandypmrt, B edusut 40% wfoubluarsss Qubn ssurser Casrsdl Gl
Goustmgu wdlliGlusshaenalle 35 wgliGuanser sflmone Gubhor,  erealld
vt safier Gatsd) allaphar(
Al A 5% 3 A
C)] 35% Dy 33%.
A scored 30% marks and f[alled by 15 marks. B scored 40% marks and obtained
35 marks more than that required (o pass. The pass percentage Is
A) 45% Bl 40%
C)  35% D} 33%.
116, (264) '92 4+ (264 ) 100 e perprens Gevdio aes
Al ( B) 2
L
Cl 4 D} 8.
The uni's digit in ( 264 ) 192 4+ (264 ) 199 s
Ay 0 Bl 2
cy 4 D) 6

117, i Lk sinomeasi 5% Seerusdlent, £l 29% i gfleyin edlbatiu®didmnean. Gorgs
b Blerud . 400 erestlas, Glmrrf‘g;g,& Fior s setied (nHliny
A . 10.000 Bl . 12.000
Cl e 15,000 D} em. 20.000.

Two-third of a consigniment was sold at a profit of 5% and the remaining at a
loss of 2%. If the total profit was Rs. 400, then the value of the consignmenl was

Al Rs. 10,000 Bl Rs. 12,000
C) Rs. 15.000 8]} Ras. 20,000,
l D | \__36_{_31 I- ﬁi_-"._l [ Turn over
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114,

120

12]

| D |

The ratio of Lhreg numbers is 3 ;4 : 5 and the sum of their squares s 1250, The

sum ol the three numbers is

A 30 B) B0

) (518 n) o 90.

a0 Bjees 5% sl el alldissdli el e, 28 aebeusta| arambAlan e n;
DL RSTGD 7

A) 22 B) 22
C) 23 D} 23
In how many years will a sum of money treble itsell al 5% CI payable unnually 7
A) 22 B) 22,

C) 23 D) 244

epun sulL Bl Hhmerey, 62 (6 agsdlain ahpealhe seb aalld e oM el et

SR ATST
Al q:1 : 13) 11 .7
) 14 :1] [y 227,

The perimeter of a circle is cqual (v the perimeter of a square. Then, their areas
are i the ratio '

Al e B 11:7

C) 14 1) )y  22:7.

L mhybis D@l Sumburerat BbymeT Bihs cumsanud snikes)

Al T B} e

C) ey Dl alGsdeb.

In peripheral nervous system, the majority nerves are ol ... type
Al motor B SENSOrY

C) mixec] 1 atferent,

2001 -RE |
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A man in the habit of consuming antibiotics indiscriminalely is likely lo sulfer
from the deficiency of
Al Vilamin £ and D B) Vilamin K

¢l Carbohydrales D) TFats.

123, 2 L flefimpa Cupluflh Gusssdlda Gaw smonsendad Cedgib  edlu e

LT 6 6Tt Shean Ll

L G-z syt dlen
U, euem o) bl
L suewg Gleuaisifldler

IV, @l Gieednfladlen.

Eleumimyer:
Al L IL I, IV . By 1 NI IV
C) o, IV, L D) L 1L LTV

identity the right path of blood llow among the chambers of human heart, when

blood cames [rom various parts of the body.
l. Lelt auricle
Il Righl auricle
L. Right ventricle
V. Left ventricle,

Of these

A [ ) O 0 P ) B) [, O, W
Cl 1. I, I0LL 1 D) [ 1, 1 e
' D | 2001-RE | { Turn over
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‘Curriculum is & too] in the hands of Lhe artist to mould his material according

to his ideal in his studio.” This is the delinition of
A) Kearney and Coock Bl  Alexander and Sevlor
CJ K. G. Sayidan D) Cunnlngham.
125, L danl 8 sibpd shilgsd smeallde shsassrm
Al HlenGun et B)  salnirlg
Cl poeGue Lealibd D)  @maznH Uaems.
A good example for projected teaching aid is
Al Realia Bl Fosters
C)  Oup D)  Peg board,
126. a1y GledBamiumina aybed &6
A yemangg eldliteesh Glsdmanme 2 amame
B) ghaaGa weie Qedssfielimig yilu Clehest Curampdlenmea
Q)  ewmanpg GCladsann gl ufds semoilsun, Serallanh pbsenay
D) Gledugidle Quriweg 5® Qedcllefibis wh@nmE Gedelihe wryl vskmyese
B aslufdianen.
Which is not a fealure of 'Cell Doctrine’ ?
Al All organisms are made up of cells
Bl New cells are formed [rom old cells
C)  All the cells are basically of the same shape and size

D] Hereditary information is passed [rom cell to cell. during cell division.

D [2001-RE |
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129,

On Lthe label of a soft drink bottle, it Is written that the liguid content is

Isolonic’, IL means

A) Lthe concentration of the liquid content is equal to that of {flulds In our cells
B the llguid enters into our cells

C) Lhe liguid does harm to our cells

3} the liquid absorbs water from our cells,

GiE WIgdldl Qums s SNl ameTuRseler s milldimsau SE

& T L i
Al Qagyeinmaugdl B) deenul BLrBigmeii el
Cl  GLaByneCyrerrang Dl Gugzmeughl.

Determination ol age of a tree by counting the annual ring is
A) Gerontology Bl  Phytlogerontology
C)  Dendrochranclogy D} Pathology.

Xl o ;ugly wremeuddt, gransdlel srousmibey, Baeuuenee), Bhon gt
niensmaeflan Sypdlenaryb, Crpurigmenyb sanLdibsdle allamea, soumenw
went dles Camemithug

A) B Cugehen Bl  gganen

Cl  mhUesmy D) sbEsdlna,

2001-RE | | Turn over
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130, gen Il ghsrear Hops emell whnib apssn
Al Grirsremé B) e in@mndsd
Cl dpadisd D) eflumiiey wl g wes,

On classifying the lools and lechnigues ol evaluation, a good sell-reporting

lechnigue is
A) interview Bl ohservalion
) aptitude test D} cheek list,
F31. Sledtsupseus eubmys g_pa‘.'ﬂ SlohoiD geieme Lluhms sy
A) s&flafls apbleun Bl eor&ags oflai
CY yGyr N Guaretls . apbleui | D E@enmiEgr 2dlligd gpbles.
Which of the lollowing is optically aclive ? :
Al Succinic acid Bl  Lactic acid
) Propionic acid D) Chloroacetic acid. ’ -

132, € - C Jeweamieny &ume Nerdsard 2 meureugl gl 7

A sell ogliyser B)  smmiruen G sy
Q) arfuen o dinuesi] D aranl Cqmamtudras.

Homolytie fission of C - C bond leads to
A) free radicals B) carbocation

Ch carbanions D) hvdrocarhbons.

| D (2001 RE |
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In an adiabatic process

Al the system exchanges heal with surroundings
f3) pressure 1s maintained conslant

C]  there is perfect heal insulation

) volume is mainlained constant.

s oot DenCemml v sper eleony Erridlin Gogiss b Burg ghulin
D =24 Tl i oBlnid gl lith 2l 8 ;

ihlen Genin L gdledr oemay

Al Ceumao F3) %gggm

C)]  Bagyb 1) Guwr.

Quantity of l?].ﬂctl'ilﬂl.j"lfﬁﬂsgﬂﬂ.&d in one second by a current ol one ampere is
A voll B) energy

C) coulomb ) rmhos,

. 0-01 N HCl e pH bl

A) 001 3} 10
C) 10 o 20

The pH ol 0-01 N HCl is nearly equal to

A (-(}1 ) B) 103
) 1:0 ) 20
I_:z_o_g'i_-!{lc | [ Turn vver
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All magnetic materials lose their magnetic properties when
Al cdipped in water 13} dipped in oil
Cl broughtl near a piece of iron D strongly heated.

137, saih @HS'I tped il bt Glavedn 10 kHe, fflann, sumyedleun 5 2 heur bl g;;bﬁ?l
semesllas LyFlrGie et

) 10 kHz L3} < 1) kHz
) > 10 kHz ) dlene Qe imGanssd #iha mrmbh.

A lrequency ol a source is 10 kHz. The frequency ol sound wave produced by it

in water and in gas will be
A 10 kllz ) < 10 kllz
) > 10 kHz 1) depending on velocity.

138, u@Gadhi Gplly 6001 GO01N Lq_uf-'lcrﬁu uﬂy 52° Cauammddid mﬁrﬁ_@a@lg@. adlGinraflii g
sdlmHEh Csnugsadah G Caremb
A) aoe B bBa2®

cy  a38° D)y 76,

A ray is incident al an angle 52° on a mirror, The angle between normal and

reflected ray is
Al 90° By 52°

C) 387 D)y 76"

D [2001-RE |




144,

141,

57 TNTET (RE}-2

Metal pipes uscd o carry waler sometimes burst in the winter because

A) metal contracts more than water

B) walter exparnds when il [reezes

Cl outiside of the pipe expands more than inside

D) inside of the pipe contracts more than outside,

pm Qurgpeanrang Coiniuae cwen Bleigm LBAIDg. |56 s

Al Az eidlaflanGanr siden Aiisera @anuBeur g duph

B Aflseney sdladlEmb

C)  ddlgsney @anyn

13 LT DT &,

H a body is charged by rubbing it, its weight

A}l may slightly increase or slighlly decreasc

B) increases slightly

C)  decreases slightly

8]} remains constlant,

gt G MU LE Serasou syaniBsg 6% saflaiy alssdlaud, woHEnms
Qeromsow sanBie 7% seflanly ofasflard sl Geidlpri. @reand

aam@Gaasbel doe, aauméss aly mponts o 354 euporen &l &fing.
(PBGY (HSEoL 186 l;ll'LDI_IT}J@. @)y et meugy (b el ig e ;,!,r--mL_fEJa‘;l'm@ #iniD, erenilas Jjeur

(wgeid Geles Ginrgs CQaras

Al . 2,700 Bl . 2,800
C) . 2,900 D] e 3.000,
.I fl(Tﬂ,L—-[{F':___l | Turn over
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142, gy Glamomasmu g [ sulguila gpaell Selsra b sisnhadld Gm wLbaTding

<48y 7 G ez %ml@&aﬂéﬂ, 288 euly afsddld el [ w s gh
A) 5 B3] 10
i 15 3] 20

A sum of money placed al C.1. doubles itsell in 5 years. I will amountl Lo eight

Litries itsell @l Lhe samne rate of inlereslin oo, YOArS.
A B £l 10
Cr =15 D 20

143. qn Gsdeussdldr ubstsar 20% spflafiheiul Crd, e LT o dgmeane

.F,*.'_‘fla&;.f:h-:h:: & sy il 7
i) A0 13) 42490
] 45 3] A6,

The percendage increase in Lhe area ol a reclangle, if each of its sides is

increased by 20% is
Ly A0 L3 4204
] 4450 18] 46%.

144, ¢m, 312 gp 100 wreweu, it eom el atl oo Guw Falh TEOeuEm S oy, 360 I SuE

uremall e . 240 b felsebuy URdLOuRfng, el ore e seflen

6T 00T e i an

Al a5 B) 40

) £ 1) B5.
D | 2001-RE |
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54 TNTET [RE).-2
1 1 : 1 1 1
-5 = mo - Hei " —_— — = | 4 - = =
YvHE =& VB N7 W7 =46 *Jg— Wib NG =nd
. I
(| 1 |B)] 5,
1 | 1 1 1 )
= == S s 7= o mmm——eee e fOTIR] 1
WO -8 Vil =N T V7 ~NB Vi -5 NB =4
Al O B) ,’i
) i ) 5,

spn @l onbe ReiGerest apbbarampdls shmeray [ G+ 3V2 ] . erellen dpmmets

LITTL dETT e
Al 45487 B, 5482
C) o D). 812

If the perimeler of an isosceles right triangle 1s [ 6+ 3y2 ) i, then the area of

the triangle is

A) 4.5 m2 = 5.4 m 2

) 9 m 2 1 81 m 2,
43, 91 whnb edrp 183 aanmmmer wgshedCurs fel bmb Uf) suwre Gmia .

@ ameumanen suigdad saqu BalGufl e
Al 4 B} 7

C) 2 1) 3.

The greatest number that will divide 43. 91 and 183 so as lo leave the same

remainder in each case is

A) 4 Bl 7
C}) 4] ) 13,
[ 2001-RE | | Turn over
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Il t+ b+e=13, a?+b?+¢2=69 then ab+ he+ ca is
A - 50 2 50
) 69 ) T
149, 4614 462, 483 4064 5 ELEEFRF ST L 6T &
Al 9 B3] 163
() 11 [ 12,

a8l 4 4824 4834 48 s divisible by

A) 9 B) 10
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